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. A sphere of radius 5 ¢cm has an 8 cm diameter hole bored through the
centre. Find the volume remaining.

7 .
2. A sphere of radius 4 cm has a hole of diameter 4 cm bored through its
centre. Find the volume remaining.

3. A solid, base an ellipse 16x2 + 25y2 = 400 has each cross section
perpendicular to the major axis in the shape of an isosceles triangle with
altitude 6. Find the volume of the figure.

,,4 If, in the above question, the cross section was perpendicular to the
minor axis, find the volume of the figure.

\; J& Two cuts are made on a circular log of radius 5 cm. The first is
" perpendicular to the axis and the second is inclined at 600 to the axis. Find
the volume formed if the two cuts meet at the centre of the log
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